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1. Nh-W, sFkvtSmwKvkv F∂nh GXn\w

DtØm-e-I-ß-fmWv.

(a) H∂mw h¿K DtØm-eIw

(b) c≠mw h¿K DtØm-eIw

(c) aq∂mw h¿§ DtØm-eIw

(d) Ch-sbm-∂p-a√

2. Bcp-ambn tN¿∂mWv _n¬tK‰kv ssat{Im-

tkm^v‰v F∂ sF. Sn. Iº\n Bcw-`n®-Xv.

(a) t]mƒ Ae≥ (b) PmIv tUm¿kn

(c) Ãohv _ma¿ (d) sdmWmƒUv shbv≥

3. Bbq¿th-Z-Øns‚ tZh-\mb [\z-¥-cnsb

Bcm-[n-°p∂ {iocw-K-kzman t£{Xw ÿnXn

sNøp∂ kwÿm-\w.

(a) Xan-gv\mSv (b) tIcfw

(c) cmP-ÿm≥ (d) lcn-bm\

4. ssS‰m-\n-b-Øns‚ Abncv

(a) C¬a-ss\‰v (b) tamtWm-ssk‰v

(c) t_mIvssk‰v (d) am·-ss‰‰v

5. Xm]w, sshZ-ypXn F∂n-hsb G‰hpw IqSp-

X¬ IS-Øn-hn-Sp∂ temlw

(a) kz¿Æw (b) sh≈n

(c) πm‰n\w (d) SMvÃ¨

6. X°m-fn-bn¬ AS-ßn-bn-cn-°p∂ BknUv

(a) HmIvkm-enIv BknUv

(b) kn{SnIv BknUv

(c) t^manIv BknUv

(d) amenIv BknUv

7. c‡-Ønse {ZmhI `mK-amWv

(a) πmkva (b)  enw^v

(c) kodw (d) enwt^m-ssk‰v

8. DOTS s‚ ]q¿Æ cq]w

(a)  Ub-dIvSven H_vk¿hvUv {Sm≥kvan-j≥

kn≥t{Umw

(b) Ub-dIvSven H_vk¿hvUv {Sm≥kvan-j≥

tjm¿´v tImgvkv

(c) Ub-dIvSven H_vk¿hvUv {So‰vsa‚ v

kn≥t{Umw

(d)  Ub-dIvSven H_vk¿hvUv {So‰vsa‚ v

tjm¿´v tImgvkv

9. "BU-tØmU hkn°' F∂ imkv{Xob

\maØn¬ Adn-b-s∏-Sp∂Xv

(a)  BS-temSIw (b) Nμ\w

(c) Bc-y-th∏v (d) Ipdp-t¥m´n

10. tXßm-sh-≈-Øn¬ kpe-`ambn ImWp∂
tlm¿tam¨
(a)  sskt‰m-ssI-\n≥
(b) Kn∫¿en≥
(c) BIvkn≥
(d) A_vkn-knIv BknUv

11. ]©m-b-Øo-cmPv \nbaw ]mkm-°nb C¥y≥
{][m-\-a{¥n
(a)  cmPohv Km‘n (b)  hmPvt]bn
(c)  \c-knw-l-dmhp (d) samdm¿Pn tZimbn

12. F{X Xc-Øn-ep≈ auen-Im-h-Im-i-ß-fmWv
`c-W-L-S-\-bn¬ Ct∏m-gp-≈Xv
(a)  10 (b)  6 (c)  7 (d)  11

13. F{X ̀ mj-I-fmWv ̀ c-W-L-S\ AwKo-I-cn-®n-
´p-≈Xv
(a)  14 (b)  18 (c)  22 (d)  19

14. temIvk-`-bn-te°v \ma-\n¿t±iw sNø-s∏´
BZy ae-bmfn Bcv?
(a)  Ão^≥ ]mZph
(b)  sI.-B¿. \mcm-b-W≥
(c)  Nmƒkv Ub v
(d)  k¿Zm¿ sI.-Fw. ]Wn-°¿

15. kwÿm\ ]n.-F-kv.-kn. sNb¿am-s\bpw
AwK-ß-sfbpw \o°w sNøp-∂-Xmcv?
(a)  Kh¿W¿
(b)  apJ-y-a{¥n
(c)  sslt°m-SXn No^v PÃnkv
(d)  cmjv{S-]Xn

16. ‘F\n-s°mcp kz]v\-ap≠v’ (I have a Dream)
F∂p XpS-ßp∂ hnJymX {]kw-Kw Bcp-tS-
Xm-Wv ?
(a) hn≥Ã¨ N¿®n¬
(b) se\n≥
(c) am¿´n≥ eqY¿ InMv

(d) A{_lmw en¶¨

17. ]©-h-’c ]≤-Xn -Iƒ°v AwKo-Imcw
\¬Ip-∂Xv
(a) Bkq-{XW IΩo-j≥
(b) sk≥{S¬ Ãm‰n-Ãn-°¬ Hm¿K-ss\-tk-
j≥
(c) tZiob hnI-k\ Iu¨kn¬
(d) dnk¿Δv _m¶v

18. 19˛mw \q‰m-≠n¬ P\n® GI tIcfm apJy-
a{¥n.
(a) C. Fw. Fkv (b) kn. F®v. apl-ΩZv tImb

(c) B¿. i¶¿ (d) ]´w- Xm-Wp-]n≈
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19. 2012-˛¬ \mk-bpsS sNmΔ t]SI-amb Iyqcn-

tbm-kn‰n Cd-ßnb sNmΔ-bnse K¿Øw Adn-

b-s∏-Sp-∂Xv

(a) e£van πm\w

(b) tK¬ t{I‰¿

(c) {]im-¥-X-bpsS kap{Zw

(d) jm°n¬´¨ t{I‰¿

20. C¥y-bnse {][m\ sImSp -apSnbmb

tKmUvhn≥ BÃn≥ ÿnXn -sN -øp∂

kwÿm\w

(a) PΩp-Im-ivao¿ (b) kn°nw

(c) DØ-cm-JWvUv (d) lnam-N¬{]-tZiv

21. lnam-e-b-Øns‚ sX°v`mKØv kky-ßƒ

Xg®p hf-cp∂ NXp∏v {]tZiw

(a) sSdmbv (b) _pKym¬

(c) sk¬hmkv (d) emt\mkv

22. temI-hn-kvXr-Xn-bn¬ C¥y-bpsS ÿm\w

(a) 10 (b) 11 (c) 12 (d) 7
23. kn\n-a-bm-°nb BZy ae-bmf kmlnXy

cN\

(a) am¿Øm-WvU-h¿Ω (b) sNΩo≥

(c) Fen-∏-Ømbw (d) GWn-∏-Sn-Iƒ

24. Xmsg ]d-bp-∂-h-bn¬ 2013 -˛¬ X]m¬

Ãmºn¬ {]-Xy-£-s∏-Sm-ØXv Bcv?

(a) kn. ANyp-X-ta-t\m≥

(b) ae-bmf at\m-ca

(c) t{]w \-ko¿

(d)A¬t^m¨kmΩ

25. bp.-Pn.kn bpsS BZy sNb¿am≥

(a) kn.-Un. tZivapJv

(b) s{]m^.-b-iv]m¬

(c)Un.Fkv.tImØmcn

(d)im¥n kzcq]v ̀ Sv\-K¿

26. thep-Øºn Zf-h-bpsS A¥yw sIm≠v

Ncn{X {]kn-≤-amb aÆSn ÿnXn-sN-øp∂

Pn√

(a)  ]Ø-\w-Xn´ (b)  sIm√w

(c)  Xncp-h-\-¥-]pcw (d)  Be-∏pg

27. C¥y-bn¬ kotdm P\-kwJy hf¿®m-\n-c°v

ssIh-cn® BZy Pn√

(a) tIm´bw (b) Fd-Wm-Ipfw

(c) IÆq¿ (d) ]Ø-\w-Xn´

28. tIc-f-Øn¬ kv{Xo˛-]p-cp-jm-\p-]mXw IqSnb

Pn√

(a) ae-∏pdw (b) Fd-Wm-Ipfw

(c) IÆq¿ (d) ]Ø-\w-Xn´

29. IΔmbn Zzo]v ÿnXn-sN-øp∂ Pn√

(a)  hb-\mSv (b)  Imk¿tImUv

(c)  IÆq¿ (d)  Be-∏pg

30. e£-Z-zo-]nse GI hnam-\-Øm-hfw ÿnXn-

sN-øp∂ Zzo]v

(a) Ih-cØn (b) Bt{¥mØv

(c) an\n-t°mbv (d) AKØn

31. C¥-y-bnse kwkvIrX {Kmaw F∂-dn-b-s∏-

Sp∂ {Kmaw

(a)  am´q¿ (b) sshZy-\mY]pcw

(c)  and´n (d)  sI∂mep

32. sk≥{S¬ seX¿ dnk¿®v C≥Ãn-‰-yq-´ns‚

Bÿm\w

(a)  Im≥]q¿ (b)  ^ntdm-km-_mZv

(c)  sNss∂ (d)  B{K

33. temI-Ønse G‰hpw henb D]-Zzo]v

(a) AemkvI (b) Atd_y

(c) aU-Km-kvI¿ (d) C¥y

34. bmN-I-cnse cmP-Ip-am-c≥ F∂-dn-b-s∏-Sp-∂-

Xmcv?

(a) kn.-F-^v. B≥{Uqkv

(b) kp`m-jvN-{μ -t_mkv

(c) aZ≥tam-l≥ amfhy

(d) `KXv knwKv

35. 1907 BK-Ãn¬ P¿Ω-\n-bnse Ã´vK¿´n¬

\S∂ A¥m-cmjv{S tkmjy-enÃv tIm¨^-

d≥kn¬ C¥y≥ ]XmI Db¿Øn-bXmcv?

(a) amUw `n°m-Pn-Ima

(b) B\n -_-k‚ v

(c) F.-H.lyqw

(d) s\lvdp

36. `o¬kv F∂ BZn-hmkn kaqlw GXv

kwÿm-\-Øn-emWv ImWs∏Sp∂Xv?

(a) cmP-ÿm≥ (b) Acp-Wm-N¬ {]-tZiv

(c) I¿Wm-SI (d) kn°nw

37. Hcp tIc-fo-b≥ Fgp-Xnb BZy tIc-f-N-cn-

{X-{KŸw

(a) tIc-f-]-ga

(b) tIc-tfm¬∏Øn

(c) aqj-I-hwiw

(d)Xplv̂ -Øp¬ apPm-ln-Zo≥

38. A¥m-cmjv{S sXmgn¬ kwL-S-\-bpsS

(ILO)Bÿm\w

(a) ]mcokv (b) tdmw
(c) P\oh (d) hmjnw-KvS¨
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39 BZysØ IW-°p-Iq-´¬ b{¥w

(a) ]mkv°-en≥ (b) bqWn-hm°v

(c) A_m-°kv (d) G\n-bm°v

40. Iºyq-́ ¿ aukns‚ thKX Af-°p∂ bqWn‰v

(a)  B¿.-]n.-Fw (b)  _n‰v

(c)  an°n (d)  SIvkv

41. C¥y≥ hnhc kmt¶-XnI hnZybpsS ]nXmhv

(a)  kmw ]nt{XmU

(b) bp.-B¿.-A-\-¥-aq¿Øn

(c) cmPohv Km‘n

(d) hnPbv _n. `SvI¿

42. sIm®n-bnse am¿Øm-WvU-h¿Ω F∂-dn-b-s∏-

´Xv?

(a) i‡≥ Xºp-cm≥ (b) ]men-bØv A—≥

(c) ]g»n cmP (d) Sn∏p kp¬Øm≥

43 ktlm-Z-c≥ Aø-∏≥ ÿm]n® kwL-S-\.

(a) F≥.-F-kv.-F-kv. (b) Fkv.-F≥.-Un.-]n.

(c) ktlmZc kwLw (d) Bfl-hn-Zym-kwLw

44. {ioaqew {]Pm k -̀bn¬ AwK-amb BZy lcn-

P≥

(a) Ip™≥]n≈ (b) sI.-]n. Idp-∏≥

(c) Aø-¶mfn (d) B\-μ-Xo¿∞≥

45. Ienw-K-bp≤w \S∂ h¿jw.

(a) B. C. 260 (b) B. C. 261
(c) B. C. 262 (d) B. C. 263

46. C¥y-bn¬ ap…ow `c-W-Øn\v ASn-Ød

]mInb `c-Wm-[n-Im-cn.

(a) C¬Øp-anjv (b) apl-ΩZv tKmdn

(c) IpØ-_v±o≥ sF_°v(d) aplΩZv Kkv\n

47. 2013 -˛¬ tZiob ko\n -b¿ dm¶nßv

_mUvan‚¨ IncoSw t\Snb ae-bmfn?

(a) ]n.-hn. kn‘p (b) ]n.-Xp-fkn

(c) Aizn\n s]m∂∏ (d) Zo]nI ]≈n-°¬

48. 2013 ˛se temI-am-\y-Xn-eIv ]pc-kvImcw

t\Snb hy‡n.

(a) C. {io[-c≥ (b) O.N.V. Ipdp∏v

(c) \ncp-]-a-dmhp (d) M.T.hmkp-tZ-h≥\m-b¿

49. Ct·m-bpsS ]pXnb sshkv Nm≥k-e¿.

(a) kbn-Zv \mknw (b) apl-ΩZv A…mw

(c) kpPmX knMv (d) \Po_v PMv

50. GXv cmPy-Øn-\mWv ASp-ØnsS C¥y

ssk\n-Im-h-iy-Øn-\mbn 100 aney¨ tUmf¿

hmbv] \¬InbXv.

(a) Itºm-Unb (b) Xp¿°n

(c) hnb‰v\mw (d) Cdm≥

51. kI¿ΩI {Inb-bv°p-Zm-l-c-W-taXv?

(a)  IpSn®p (b)  hmbn®p

(c)  Ddßn (d)  ASn®p

52. Hcp hcn-bn¬ 26 A£cw Ds≠-¶n¬ AXn-

\p-]-d-bp∂ t]cv?

(a) DXvIrXn (b) Oμ v

(c) A\p-jvSp∏v (d) hIv{Xw

53. Don’t think over spilt milk CXn-t\mSv tbmPn-

°p∂ {]tbmKw

(a) NØ Ip™ns‚ PmXIw t\m°pI

(b) IÆn¬ s]mSn-bn-SpI

(c) D®n-sh® ssIsIm≠v DZI {Inb sNøpI

(d) IXn-cn-t∑¬ hfw shbv°pI

54. H°n-s√m-cn-°epw taen-se-\n-°n\n

bn°-fn-b-—-t\m-sSm-Øp-I-fn-°p-hm≥ ˛ Cu

hcn-Iƒ BcpsS?

(a) H. F≥.hn

(b) ]n. Ip™n-cm-am≥\m-b¿

(c) Pn. i¶-c-°p-dp∏v

(d) D≈q¿

55. X≥ hn\-sb-®-Øns‚ \ntj[ cq]w

(a)  `mth {]-tbmKw (b)  AImc {]tbmKw

(c)  ad-hn-\-sb®w (d)  hn\-sb®w

56. Nncp-I-≠≥ F∂-Xv GXns‚ X¤hamWv?

(a) Xncp-I-WvT≥ (b) {ioI-WvT≥

(c) {ioI-WvtT-iz-c≥   (d) Xncp-I-≠≥

57. cma≥ Pbn°Ww. GXp {]Im-c-amWv?

(a) \n¿t±-iIw (b) Biw-kIw

(c) hn[m-bIw (d) A\p-⁄m-bIw

58. D]-k¿§w tN¿°mØ ]Zw

(a) Blmcw (b) hnlmcw

(c) ]cn-lmcw (d) lmcw

59. Rm≥ Cu At]£ ka¿∏n-®p-sIm-≈p∂p

ASnh-c-bn´ ]Zw

(a) t`Z-Im-\p-{]-tbmKw

(b) Imem-\p-{]-tbmKw

(c) ]qcWm-\p-{]-tbmKw

(d) \ntj-[m-\p-{]-tbmKw

60. X≤nXw F∂ ]Zw ]ncn-s®-gp-Xptºmƒ

(a) XXv+lnXw (b) XZv+lnXw

(c) XZv+[nXw (d) X+≤nXw

61. Find out the misspelt word
(a) Renaisance (b) Reassume
(c) Rebuke (d) Rebellion
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62. He stayed here for ______ few days.
(a) an (b) the (c) little (d) a

63. When I was a child, I ___ to school everyday.
(a)had walked  (b) walked
(c) have walked (d) have been walking

64. The adjective ‘august’ means
(a) rainy (b) creating respect
(c) serious (d) proud

65. “What a stupid fellow you are” he angrily
remarked.
(a) He angrily remarked that I was a stupid
fellow.
(b)  He angrily remarked that I am a stupid
fellow.
(c) He angrily remarked I am a stupid fellow.
(d) He angrily remarked that “ I was a stupid
fellow!”.

66. Children can usually ___ their parents.
(a) get round (b) get over
(c) get on (d) get through

67. He is ____ different from his brother.
(a) inter alia (b) intoto
(c) ipso facto (d) impasse

68. There is no exception _____ this rule.

(a) for (b) to (c) with (d) on

69. The bell did not ring …………...., the students
entered the class.
(a) because (b) and (c) yet (d) so

70. If the workmen had not been tired, they
________ the work.
(a) would have completed
(b) would complete
(c) will complete
(d) will have completed

71. Group of words spelt or pronounced in the
same way but having different meanings.
(a) Acronym (b) Homonym
(c) Homograph (d) Homophone

72. Necessary actions _____ to prevent the
recurrence.
(a) should take (b) must take
(c) must be take (d) should be taken

73. Geriatrician is a doctor specializing in :
(a) Medical care and treatment of the
     old people
(b) Heart disease
(c) Parkinson’s disease
(d) Children’s disease

74. Neither Meera nor her brother_____ present
today.
(a) are (b) has (c) were (d) is

75. The opposite of ‘optimistic’ is:
(a) obedient  (b) pessimistic
(c) mystic  (d) orderly

76. More than one person ______ feared to be
drowned.
(a) are (b) has (c) have (d) is

77. The thief ran away from the crowd ____ he
should be attacked.
(a) for (b) since (c) lest (d) if

78. He locked the gate in case strangers___
(a) got for (b) got in
(c) got at (d) got with

79. Find the misspelt word
(a) Quorum (b) Psycophant
(c) Exhausted (d) Elixir

80. Spot the error
Dismissing the speculations (a) / the manage-
ment said that the workers will be benefitted
(b) / once the construction of the building (c) /
was completed (d)/.

81. D-4, F-6, H-8, J-10, ___, ____, ____
(a) M-13  (b) N-14    (c) M-14 (d)  L-12

82. ‘COLD’F∂ hm°v XLOW Fs∂-gp-Xn-

bm¬ ‘PROUD’ F∂ hm°v Fßs\sbgp-
Xmw?

(a) UPYXW (b) LNOPW
(c) KILFW (d) KJMNW

83. 3 : 12 :: 5 : ?
(a) 30 (b) 32 (c) 25 (d) 28

84. H‰-bms\ Is≠-ØpI?
(a) \S-°pI (b) HmSpI

(c) Dd-ßpI (d) \o¥pI

85. Hcp amkw 10 \ v Rmb¿ F¶n¬
AXn\ptijw 50˛mw Znhkw GXm-gvN-bmWv?
(a) _p[≥ (b) hymgw

(c) sh≈n (d) i\n
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86. kabw 12.20 IÆm-Sn-bnse {]Xn-_nw_w

F{X?

(a)  1.40   (b) 11.20 (c) 11.40  (b) 1.20
87. A—s‚bpw aIs‚bpw hb pIƒ XΩn-

ep≈ A\p-]mXw 2:1 BWv. Ccp-]Xp h¿j-

ßƒ°p apºv A—s‚ hb- ns‚ aq∂n-sem-

∂m-bn-cp∂p aIs‚ hb-s -¶n¬ ]Øp

h¿jØn\p tijw A—s‚ hb v F{X?

(a) 60 (b) 70 (c) 80 (d) 90
88. F bpw _n bpw ktlm-Z-c≥am-cm-Wv. F bpsS

aI≥ Un bpsS ktlm-Z-c-\m-Wv. F¶n¬ _n

bpw Un bpw XΩn-ep≈ _‘w F¥v

(a)  sNdn-b-—-\mWv (b)  A—-\mWv

(c)  AΩ-bmWv (d)  ktlm-Z-c-\mWv

89. Hcmƒ 10 ao‰¿ Ing-t°m´pw 15 ao‰¿ hS-

t°m´pw, 12 ao‰¿ ]Sn-™mtdm´pw 15 ao‰¿

sXt°m´pw k©-cn-®m¬ ]pd-s∏´ ÿeØp

\n∂v Abmƒ F{X AI-e-Ønembn-cn°pw?

(a)  2 ao (b)  0 ao (c)  5 ao (d)  8 ao

90. cmL-h≥ Hcp Iyqhn¬ ap∂n¬ \n∂pw

]n∂n¬ \n∂pw ]Xn-s\m-∂m-a-sX-¶n¬ B

Iyqhn¬ BsI F{X t]¿ D≠mIpw?

(a)  17 (b)  21 (c)  25 (d)  22
91. Hcp kwJy-bpsS 20% Øn¬ \n∂v B kwJy-

bpsS Xs∂ 10% Ipd-®m¬ 6 In´p-sa-¶n¬

kwJy GXmWv?

(a)  60 (b)  40 (c)  20 (d)  16
92. 14,18 F∂o kwJy-Iƒ sIm≠v lcn-°p-tºmƒ

injvSw 2 hcp∂ G‰hpw henb kwJy-tbXv?

(a) 8 (b) 2 (c) 4 (d) 12

93. a:b = 3:4 Dw b:c=2:1 Dw Bbm¬ a:b:c=?
(a) 3:2:4 (b) 3:4:2
(c) 2:3:4 (d) 4:3:2

94. Acn-bpsS hne 25% h¿≤n-®p. D]-t`mKw

F{X iX-am\w Ipd-®m¬ Nne-hn¬ hy-X-ym-

k-ap-≠m-In√?

(a)10% (b) 30% (c)40 % (d) 20%
95. Hcp Ip´n°p 12 hnj-b-ßƒ°v In´nb am¿°v

486 Bbm¬ Ip´n-bpsS icm-icn am¿°v F{X?

(a) 40 (b) 128 (c) 42.5 (d) 40.5
96. 12 tai-bpsS hmßn-b-hne 16 tai-bpsS hn‰-

hnebv°v Xpey-am-bm¬ \jviX-am\w F¥v?

(a) 30% (b)  20% (c) 25% (d) 10%
97. cmP≥ Hcp tPmen 10 Znh-kw-sIm≠pw Acp¨

AtX tPmen 30 Znh-kw-sIm≠pw cmap 15 Znh-

kw-sIm≠pw sNbvXv Xo¿°p∂p. F∂m¬

cmP\pw AcpWpw cmaphpw tN¿∂v AtX

tPmen F{X Znhkw sIm≠v sNbvXv

Xo¿°pw?

(a) 5 Znhkw (b) 7 Znhkw

(c) 9 Znhkw (d) 6 Znhkw

98. 20% km[m -cW ]en -i -\n -c -°n¬ Hcp

\nt£]w Cc-´n-bm-Ip-hm≥ F{X h¿jw

thWw?

(a) 1 (b) 2 (c) 2 1/2 (d) 5
99. Hcmƒ 8 In. -ao./aWn-°q¿ thK-X-bn¬

ssk°nƒ Nhn-´p-∂p-sh-¶n¬ 5½ -a -Wn-

°q¿sIm≠v Abmƒ F{X Zqcw k©-cn-°pw?

(a) 44 km   (b) 42km    ( c) 40 km    (d) 30
km

100.48 ×  48 + 52 52 + 2  48  52 = _____
(a)  10000 (b)  1000
(c)  1500 (d)  100

DØ-cßfpw hni-Zo-I-c-Whpw - Set 21

1. (c) 2. (a) 3. (a) 4. (a) 5. (b) 6. (a) 7. (a) 8. (d) 9. (a) 10. (a)
11. (c) 12. (b) 13. (c) 14. (c) 15. (d) 16. (c) 17. (c) 18. (d) 19. (b) 20. (a)
21. (a) 22. (d) 23. (a) 24. (d) 25. (d) 26. (a) 27. (d) 28. (c) 29. (c) 30. (d)
31. (a) 32. (c) 33. (b) 34. (c) 35. (a) 36. (a) 37. (d) 38. (c) 39. (c) 40. (c)
41. (c) 42. (a) 43. (a) 44. (c) 45. (b) 46. (b) 47. (b) 48. (a) 49. (b) 50. (c)
51. (d) 52. (a) 53. (a) 54. (b) 55. (c) 56. (b) 57. (c) 58. (d) 59. (a) 60. (b)
61. (a) 62. (d) 63. (b) 64. (b) 65. (a) 66. (a) 67. (b) 68. (b) 69.  (c) 70. (a)
71. (b) 72.(d) 73. (a) 74. (d) 75. (b) 76. (d) 77. (c) 78. (b) 79. (b) 80. (b)
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P R O U D

↓

↓ ↓ ↓ ↓
K I L F W

83. (b) 3: 12 ⇒ 3 = 1 + 2
AXp-t]mse 5 = 3 + 2 ⇒ 5 : 32

84.  (c) a‰v {]hr-Øn-I-fn¬ icocw Ne-\m-h-ÿ-bn-
emWv

85.  (c) B amk-Ønse ]Ømw XobXn →
Rmb¿
3˛mw XobXn

→

Rmb¿
4˛mw XobXn

→

 Xn¶ƒ
5˛mw XobXn

→

 sNmΔ
6˛mw XobXn

→

_p[≥
7˛mw XobXn 

→

hymgw
7

×

7 = 49-˛mw Znhkw

→

 hymgw

50-˛mw Znhkw

→

 sh≈n

86. (c) 23.60 --˛12.20 = 11 .40

ChnsS "12', 11-˛t\-°mƒ hep-XmWv.

87. (d) Ct∏mƒ A—s‚ hbkv 2

x

 Dw aIs‚

hbkv 

x

Dw Bb-Xn -\m¬ 20 h¿j-

ßƒ°p-apºv aIs‚ hb-kv,

(

x

-20) = 

3
1

(2 x -20)

3(

x

-20) = 2

x

-20
3

x

 - 60 = 2

x

-20

x

= 40
Ct∏mƒ A—s‚ hbkv=2

x

= 2

×

40 = 80
10 h¿j-Øn-\p-tijw A—s‚ hbkv

= 80+10
= 90 hbkv

88. (a), 89 (a)
90. (b) Iyqhnse BsI Bƒ°m¿ = (11+11)-1

    = 21
91. (a) kwJy 

x

 Bbm¬

x×

20% -̨  

x×

10%  =  6

100
20

×

x

 ---˛ 

100
10

×

x

 =  6

20

x

˛10

x

= 100

×

6  ⇒ 10x = 600

⇒ x = 

10

600

92.  (c) G‰hpw henb kwJy = 14,18 F∂o kwJy-

I-fpsS D.km.L.+2

= 2+2 = 4

93. (b) a : b : c
3 : 4 :
   : 2 : 1
6 : 8 : 4
(i.e), 3 : 4 : 2

94. (d) R100
R
+   × 100

R = IqSnb iX-am\w

= 25100
25
+  ×100

=   125
25

 ×100 = 20%

95. (d) icm-icn am¿°v = 5.04
12
486

=
96. (c) 12 tai-bpsS hmßn-b-hne = 16 tai-bpsS

hn‰-hne

hmßn-b-hne = 16

hn‰-hne = 12

\jvS-i-X-am\w = %100
16

1216
×

−

= %100
16
4
×

= %100
4
1
× = 25%

81. (d)
 D -  4
↓ ↓
F - 6
↓ ↓
H - 8
↓ ↓
J - 10
↓ ↓
L - 12

+2

+2

+2

+2

+2

+2

+2

+2

82. (c) Btcm-l-W-{I-a-Ønepw Ah-tcm-l-W-{I-a-

Ønepw AapX¬ Zhsc 1 apX¬ 26 hsc

hne Btcm-]n-®m¬ Htc hne-Iƒ hcp∂

A£-c-ß-fmWv tImUp-]-tbm-Kn®v Fgp-Xn-

bn-cn-°p-∂Xv

C O L D
↓ ↓ ↓ ↓
X L O W

AXp-t]mse

 x = 60
 kwJy = 60
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97. (a) cmP\pw AcpWpw cmaphpw tN¿∂v

 Znhkw sIm≠v sNbvXv

Xo¿°-Ww.

AXm-bXv 101515303010
153010

×+×+×
××

= 150450300
153010
++
××

= 900
153010 ××

 = 5 Znhkw

98. (d) h¿jw =

= 20
100

= 5 h¿jw

99. (a) Zqcw = thKX ×  kabw

= 8 5.5= 

100. (a)
48× 48 + 52 52 + 2  48 52

=  (48 +52)2

=  (100)2  =  10000

]en-i-\n-c°v

100


